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23 Jason takes 1 hour 40 minutes to assemble his first car model. He took 30 minutes more to
assemble his second car model.

(a) If he starts assembling his first car model at 11.30 a.m., what time will he complete
assembling his first car model?
Draw a timeline to show your working.

(b) How long does he take to assemble the second car model?
Leave your answer in hours and minutes.

Answer: (a) [2]

(b) (2]

24 Kate had some beads and containers. If she placed 45 beads in each container, she had 33 beads
left. If she placed 53 beads in each container, she was short of 39 beads. How many containers
did Kate have?

Answer: [4]
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